3.1.5 The How and Why of Appeasement

The word appeasement has become synonymous with how the world dealt with Hitler prior to WW II.  How did this arrangement work and why had countries like Britain and France adopted such a policy?

Ultimately, the appeasement of Hitler failed as war came and Hitler did not stop his aggression.  So, why was this policy followed in the first place?  What possible reasons could there be for countries to use this policy?  Britain and France were the prominent powers in Europe which followed the policy of appeasement.  They were prepared to pursue this policy for the following reasons;

1)  Memories of World War I:  Britain and France were extremely reluctant to fight due to the psychological trauma resulting from having witnessed the deaths of vast numbers of young people in WW I.  Many British urban centers lost up to 40% of all young men, many families lost all their sons and most young male relatives.

2)  Global Economic crisis/Great Depression: the global economic downturn meant countries were increasingly reluctant to spend resources on foreign crisis not directly related to their interests. Also, the costs of maintaining empires was a huge burden and many European countries desperately wanted to retain the status of empire despite the decisive blow to European hegemony resulting from the First World War.

3)  The Communist Threat:  Conservative politicians had to worry not only about the threat posed by Hitler’s Germany, but also about the threat posed by the Stalinist Soviet Union – as the Holocaust had not yet occurred, they mostly regarded Stalin as the greater of the two totalitarian evils.  In fact, Berlin had just hosted the 1936 Olympics and there was some ambivalence regarding Hitler and the Nazis.  He allowed capitalism and unlike the USSR, Nazi Germany was not atheistic.  We now have the benefit of hindsight and are fully aware of the horrors of Nazism.  This was not yet the case in Europe. The voices of discontent with the policy of Appeasement were few.

4)  Not as important as the others, but worth noting were the revisionist views surrounding the Treaty of Versailles.  Many nations viewed Hitler’s actions to this point not so much with alarm as much as a political leader “righting the wrongs” of a somewhat vengeful treaty visited on his people.  As we know, the treaty is still debated by professional historians all these decades later and the actions of the victorious allies in 1945 was a clear departure in how defeated nations were treated.  Japan and (West and eventually a unified) Germany become leading economic powers in no small part because of post-war economic policies aimed at development not reparations and revenge.

ALSO USE THE PREVIOUS POINTS (3.1.6)  TO HELP ANSWER THIS QUESTION

Appeasement, as a policy of containing the territorial expansion of Hitler, did not work.  So it was completely ineffective. When Hitler expanded his control of various parts of Europe he was appeased for various reasons.  From his first expansion into the Saarland in 1935 until his final unopposed expansion into Czechoslovakia in 1939 Hitler had been appeased. 

 During the time of appeasement Hitler had gained a significant amount of territory (Rhineland, Austria, Sudetenland, Czechoslovakia) without firing a shot.  It can be argued that appeasement allowed Hitler to expand further and at a faster rate than he could ever have wished.  Appeasement can therefore be deemed a complete and utter failure when it came to preventing the territorial expansion of Germany. And here is where you would state the reasons why countries like England and France pursued it.  You can also discuss the nature of diplomacy or statesmanship; leaders never realized the level of Hitler’s mistrust.  Hitler’s guise or act hiding his true intentions to this point had worked and coupled with the reasons above countries desperately hoped to retain peace in Europe. By the time the invasion of Poland occurred they realized he could not be trusted, but it was too late.  

